Substitution Answer Key

Instructions: Evaluate each expression by substituting in the given values.

1 If g— 6, b==8 then what is Iab’

144

. 'fa:—S, h— 2,then what is Ia-+t 3p?
-3

Cf a=-6, b= 5, then what is _ 1':;{1?

12

o f =0, s=4, t=2.thenwhatis 54| ¢4 24?

8
. M p—1, §=2, 1= 3 thenwhatis 4],,_'_%_'_ §2?
17
Mp— 4 S:l, {— g, thenwhatis 3¢+ 12
2 5
-6
O f F:l 3:%, Izg, then what is FSI?
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- fp_6, s=-3, t=2 thenwhatis 21"223?
t

54

2 .
. f t=—-1,u=3, V:? w — 4 then what is 4I3—|—2u2+ IGV—W?

14

10.1f y— % 2 — % Ve %, W % then what is Eiﬂw
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